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1). Convert to standard form

900 + + 2 = 972

2). What digit is in the hundreds place in the number

6639

3). What digit is in the tens place in the number

6135

4). Fill in the missing parts for the number

1464 = tens + ones

5). Fill in the missing parts for the number

5532 = tens + ones

6). What digit is in the hundreds place in the number

2951

7). Convert to standard form

100 + + 6 = 196

8). Fill in the missing parts for the number

9708 = tens + ones

9). What digit is in the hundreds place in the number

9293

10). What digit is in the thousands place in the number

6701

11). What digit is in the thousands place in the number

3505

12). Fill in the missing parts for the number
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5310 = tens + ones

13). What digit is in the hundreds place in the number

5703

14). Convert to standard form

+ 20 + 2 = 622

15). What digit is in the thousands place in the number

3031

16). What digit is in the tens place in the number

4623

17). Convert to standard form

+ 50 + 5 = 455

18). What digit is in the hundreds place in the number

4681

19). Fill in the missing parts for the number

7812 = tens + ones

20). Convert to standard form

100 + + 1 = 121
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